8/31/23, 2:14 PM

Graphing Graphing Trigonometric Functions

Quizizz NAME :
CLASS:
Graphing Graphing Trigonometric Functions
. DATE :
25 Questions
\E Aswn L\Ab""ﬁ)’rk

1.

What is the amplitude of y=-3sin(7x)-2

@ Bl 7

C

-3 D -2
W

What is the period of y=cos(3x-11)-5?

/6 Per o), = ’2’5{; 21/3

21/6 L= 5 w
3.
what is the midline for y=2cos(1/3x + 1/§) +
‘3‘ Aeos (W - S"%“
-2 B 4

what is the amplitude of the graph shown
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5. Which function below matches this graph?
‘ fV'\IX\\m =0
i : = %=
\
w .
A <
3sin(x) ¥ O B| 3+sin(x)
C 3cosx) D 3+€0s{X)
6. & . Which function below matches this graph?
‘%—t7%‘ i /83 |
N
A cos(X#2) ?"-c\ cos(X>3
¢l Beosty) / _,,Q)’n
7.

Which function below matches this graph?

A csc(x) { B T+csc(x) )

C T-csc(x) D -csc(x)

8. what is the amplitude of the graph shown
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N (:

Which function below matches this graph?

sec(x-2)

@ 2sec(X)

10. e Which funcWatches this graph?

A 1/4cos(x)+1

C -C0Ss4(Xx)

| .
|
4
E 2

Al y=-2sinx-3

C y=2COSX# 3

12.  What is the y-intercept of y = cos(x)?

A (0,0) :
C (-1,0) .

13.  What is the y-intercept of y = sin(x)?

C 0, -1) i :
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sind(x-1) &&

@ 1/4sin(x)+1
7

L8

‘F What is the equation of the graph?

y=-3c0sXx-2

y =-2cos x -3

0,1)

©,-1)

(1,0

0.1)
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14.  What is the y-intercept of y = -cos x ?

Al (0,1) B (0,0
15. 4 What is the equation of graph?
\ N N 7 A N\

\
[\
o

[ E
\V /I B B R R /
\\\/,/ \/ \/ a‘ \// \ Vi \

VN [
\’\/\J\ N/

A y = COS 5x B V= sin 5x

C y=5sinx @

16.  Whatis the period PQV{ OC\-— 27- — T L

of y = 3 sin gx? bl |
& WYy 2 l
A 180 degree Bl 2
c 3 D 360 degrees
17. .2 Evaluate the trig function:
4) sm?
-
2
0 el D) -2
3
A C B D
C B D A
18.  5)sinl80° Evaluate the trig function
A) Undefined
@
) -2 D) -~
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19 10y esc60° Evaluate the trig function:

p V2 f&’F'oé‘ﬂ (n

7 V2
3T S <5
~ Cscpd =23

A C Q\r’ B D
- 6(})@ .

20. 14) tan —405° Evaluate the trig function:

' "'\05 * 3Lb = -"‘5

W B)1 WG\
- -3 ore C

)—\/3 ) \éa . Yo% anld 5

ond=D_
-'15 T ~
cr- 7 T
A A 2
=
¢ C D B B '\»
21. +°""Q“¥“h' =3 Which function represents the graph?
3
T
_3* .
A f(x) = 3 cos x B f(x) = 3. s%x
C f(x) = sin { ¥4 x) D f(x) = sin (R X)
22. : Write an equation to represent
3
\/ T 27
_3;

@x) =sin 3x) Pe Y;o*ol:gg- =B = Cos3x)
><f(x) =sin (1/3x) ? Y GJ: Z.y\é =0 D f(x) = sin (1/3x)

23.  What does a negative A value transform?

ﬂection across X axis B A reflection across the Y axis
C  Notta )@mgative amplitude

\lo ne,sql'\Ve G\.MPI/I-volc
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24. | 3r,_.__-— Write an equatio[w to represent
L S —= ?QY\Gd\ - LW

w=27T _ I
Al f(x)=3cosx f(x) = cos (V4 X) 310 5
W3 sin x >%Y= sin (V4 X)

25. The_period of a sine or cosine graph can be found by ....

=A*sin[B(x+C)]+D
PRI R eri o0+

A 21+B B B(2m)

C It's always 21t D

Answer Key

1.a 2.b 3.d 4.a
5.a 6.d 7.b 8.¢
9.d 10.d 11.d 12.b
13.a 14.c 15.d 16. a
17.c 18.a 19.d 20. a
21.b 22.a 23.a 24.b
25.d
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